3 (Sem-5) ECO 2

2017

ECONOMICS
( General )

Paper : 5.2

( Introduction to Growth and
Development Economics )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following' as directed : 1x10=10
were fracare ot sepiR Ted for
{a) Who propounded the theory of

(b)

8A/140

cumulative causation?

Cumulative causation TGR SEEF (I ?

Name any one sector suitable for labour-
intensive technique.

A -FIRT EER T3 Tge Yo «fbT e

{ Turn Over )



(c)

(d)

(e)

8A/140

(2)

Which one of the following sectors will be
more suitable for capital-intensive
technique?

TR I R EEE-RT R
TRE 2?7
(i Handloom weaving
/S
(ii) Fishery
Ty
(iij) Iron and steel industry

¢ uR S Trame

(Choose the correct option)

(wm Tescl AR Tferean)

Mention any one advantage of large-scale
industry in the context of developing
economy. , :

T weRifed crmiete ReuanE Yo &
CFIC 91 3R SeEd F90 |

What, according to Ragnar Nurkse, is the
major obstacle to economic development?

R TR TS AL T g 4 R 2

According to Mpyrdal, backward effects
have favourable effects of economic
expansion while spread effects have
unfavourable effects.

(Write True or False)

( Continued )

(9)

()

8A/140

(3)

fiem qro SRNAST TEPRE PR AFE
AR A W, WWErS, TR AR
oifoge1 23 | (1@ & =T o)

Underdeveloped countries are

characterized with (equitable/
unequitable) distribution of income.

(Choose the correct word

from the bracket)

S PP CAME (R W (H/SPH)
"3 |
(FFT fooTq «q wa TeIh! Ak Teredn)

Who among the following economists is
associated with the process of calculating
Human Development Index?

Adam Smith/Mahbub ul Haq
/J. M. Keynes
(Choose the correct option)

o (IS LA TG THE AT
2l oS e ?

wrer g/ crea T 29/ ¢, 99, @FF
(v Te3001 AR Tferean)

Human development is a process of
widening people’s

(Fill in the blank)

e TaEe (R0m VR RePTR |
(e o1 =3 )

{ Turn Qver )




(6)

(e) Is there any scope for government

4. Answer any four from the following :

intervention to break the vicious circle of
poverty in an economy? State briefly.
HLAMS @3S TREH AT TS T wo
BRI TECF SH SO ? 5 o |
Describe how far industry is necessary
for economic development of a developing
country.

&ﬁWWWWWWWﬂ
ST R, 3o w41

@] i T wifRtE Tes forey

(@) Explain the factors leading to economic

(b)

(¢

8A/140

growth.
e Ffed FEETYR W 7470 |

Elaborate the causes of economic
underdevelopment. ‘

AT erER IR TR e |

Explain gross domestic product and per
capita income as measuring tool of
economic development along with their
limitations.

ST T R W fone P v

AT WTF S S S S s
[ T 1

( Continued )

10x4=40

( 7)

(d) “Development is a chain of disequilibria.”
Do you support it? Give reasons for your
answer.

“TEE (R ST O3 RE 1 R AN
o WA FA? (ONR Ve M PR
Liaicill

(e} Explain Lewis theory of unlimited supply
of labour.

fifdew =fies ST @ TG AW F49 |

(i “In developing economy, agriculture and
industry are complementary.” Argue the
case to support the statement.

“TmgmRE wAfee R W Tomel (xR
T R 1 AR e I
SR |

(g) Why are small-scale industries more

suitable for a developing country like
India? Explain.

SRET WA SFEE (PR AR TOAER St

2 wfe Soge 2 w390
(h) Give a comparative analysis of
capital-intensive technique and

labour-intensive technique.
TAE-ARE FrE e 1E-ARe (PR e
GO fRCHEeT SITERT |
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(6)

fe) Is there any scope for government

4. Answer any four from the following :

intervention to break the vicious circle of
poverty in an economy? State briefly.

LS 43S TRTON AFEF AT FIF (A0
DRI TECFT AT WORCA 7 B TN |

Describe how far industry is necessary
for economic development of a developing
country.

951 TEee o AT SRR A0 ST
AERS! e, 39 91

Wﬁ@mﬂﬁ%ﬁwm

(@)

(b)

()

8A/140

Explain the factors leading to economic
growth.

HAASP T TR A0 T4

Elaborate the causes of economic
underdevelopment.

AT SO FRPTR 2T B |

Explain gross domestic product and per
capita income as measuring tool of
economic development along with their
limitations.

Afer T e witen e 3 wwa

BRI W T SR SR MRmel e
I 4 |

( Continued )

10x4=40

(7))

(d) ‘“Development is a chain of disequilibria.”
Do you support it? Give reasons for your
answer.

“THE (3R R 99 Y I @2 IAEN
TR WL FA? CER TER IW@ IR
woefia |

fe) Explain Lewis theory of unlimited supply
of labour.

Aiem A7 ST @S TGO AN FA

() “In developing economy, agriculture and
industry are complementary.” Argue the
case to support the statement.

‘“Tae weRIfde ¥R W@ Tooe (=
R AR 1 YR WATe Ife
HISRTEHT |

(g) Why are small-scale industries more

suitable for a developing country like
India? Explain.

SReY WA TagaRE (PR AT FaAa S

ey wfds Toge 2 Irm +40
(h) Give a comparative analysis of
capital-intensive technique and

labour-intensive technique.

TE-FART P W 19-FRT @R T

TEE RTEe S1aReeRT |
* 4 Kk
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